
	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	A
	NTC-1
HSP70
	NTC-2
HSP70
	nX -1
HSP70
	nX -2
HSP70
	nX -1
HSP70
	nX -2
HSP70
	nX -1
HSP70
	nX -2
HSP70
	nX -1
HSP70
	nX -2
HSP70
	3C-a -1
HSP70
	3C-a -2
HSP70

	B 
	NTC-1
p53
	NTC-2
p53
	nX -1
p53
	nX -2
p53
	nX -1
p53
	nX -2
p53
	nX -1
p53
	nX -2
p53
	nX -1
p53
	nX -2
p53
	3C-a -1
p53
	3C-a -2
p53

	C
	NTC-1
PCNa
	NTC-2
PCNa
	nX -1
PCNa
	nX -2
PCNa
	nX -1
PCNa
	nX -2
PCNa
	nX -1
PCNa
	nX -2
PCNa
	nX -1
PCNa
	nX -2
PCNa
	3C-a -1
PCNa
	3C-a -2
PCNa

	D
	NTC-1
nrf2
	NTC-2
nrf2
	nX -1
nrf2
	nX -2
nrf2
	nX -1
nrf2
	nX -2
nrf2
	nX -1
nrf2
	nX -2
nrf2
	nX -1
nrf2
	nX -2
nrf2
	3C-a -1
nrf2
	3C-a -2
nrf2

	E
	NTC-1
Iox5
	NTC-2
Iox5
	nX -1
Iox5
	nX -2
Iox5
	nX -1
Iox5
	nX -2
Iox5
	nX -1
Iox5
	nX -2
Iox5
	nX -1
Iox5
	nX -2
Iox5
	3C-a -1
Iox5
	3C-a -2
Iox5

	F
	NTC-1
tnf1a
	NTC-2
tnf1a
	nX -1
tnf1a
	nX -2
tnf1a
	nX -1
tnf1a
	nX -2
tnf1a
	nX -1
tnf1a
	nX -2
tnf1a
	nX -1
tnf1a
	nX -2
tnf1a
	3C-a -1
tnf1a
	3C-a -2
tnf1a

	G
	NTC-1
EF1Aa
	NTC-2
EF1Aa
	nX -1
EF1Aa
	nX -2
EF1Aa
	nX -1
EF1Aa
	nX -2
EF1Aa
	nX -1
EF1Aa
	nX -2
EF1Aa
	nX -1
EF1Aa
	nX -2
EF1Aa
	3C-a -1
EF1Aa
	3C-a -2
EF1Aa

	H
	NTC-1
EF1Ab
	NTC-2
EF1Ab
	nX -1
EF1Ab
	nX -2
EF1Ab
	nX -1
EF1Ab
	nX -2
EF1Ab
	nX -1
EF1Ab
	nX -2
EF1Ab
	nX -1
EF1Ab
	nX -2
EF1Ab
	3C-a -1
EF1Ab
	3C-a -2
EF1Ab



n = sample number, 1 – 12
X = group, B, D or AA
